99999

HSSEMBLY
ISTRICTION

R OUTDOOR RITCHEN

/|

Nf
S

= g
2y (Q\\

FIND A VIDEQ ON HOW 10
ASSEMBLE THE QUTDOOR KITCHEN AT
COZZEBBQ . COM/ASSEMBLY

[=]

il

Sl cozze



Ala
A 4

an
w

an
Wy

O ¢ &

WARNING! THE FAUCET IS ONLY FOR
COLD WATER AND IS NOT APPROVED FOR
DRINKING WATER.

ACHTUNG! DER WASSERHAHN IST NUR
FUR KALTWASSER UND NICHT ALS
TRINKWASSER ZUGELASSEN.

AVERTISSEMENT ! LE ROBINET EST
UNIQUEMENT POUR DE L'EAU FROIDE ET N'EST
PAS APPROUVE POUR LEAU POTABLE.

iADVERTENCIA! EL GRIFO ES SOLO
PARA AGUA FRIA Y NO ESTA APROBADO
PARA AGUA POTABLE.

ATTENZIONE! IL RUBINETTO E SOLO PER
ACQUA FREDDA E NON E APPROVATO PER
ACQUA POTABILE.

ADVARSEL! HANEN ER KUN TIL
KOLDT VAND OG ER IKKE GODKENDT
TIL DRIKKEVAND.

ADVARSEL! KRANEN ER KUN FOR
KALDT VANN 0G ER IKKE GODKJENT
FOR DRIKKEVANN.

VARNING! KRANEN AR ENDAST FOR
KALLT VATTEN OCH AR INTE GODKAND
FOR DRICKSVATTEN.

VIDVORUN! KRANINN ER ADEINS FYRIR
KALT VATN 0G ER EKKI SAMPYKKTUR
FYRIR DRYKKJARVATN.

UWAGA! KRAN JEST TYLKO
DO ZIMNEJ WODY I NIE JEST
ZATWIERDZONY DO PICIA.

WAARSCHUWING! DE KRAANIS
ALLEEN VOOR KOUD WATER EN IS NIET
GOEDGEKEURD VOOR DRINKWATER.

AVISO! A TORNEIRA E APENAS
PARA AGUA FRIAENAOE
APROVADA PARA AGUA POTAVEL.

HOIATUS! KRAAN ON MOELDUD AINULT
KULMA VEE JAOKS JA SEDA EIOLE
JOOGIVEE JAOKS HEAKS KIIDETUD.

.I.

(I

OO ¢ ¢ ¢ @ O €@ 6

=)

¢=L

VAROITUS! HANA ON TARKOITETTU VAIN
KYLMALLE VEDELLE EIKA SITA OLE
HYVAKSYTTY JUOMAVEDEKSI.

MPOZOXH! H BPYZH EINAI MONO
A KPYO NEPO KAI AEN EINAI
ErKEKPIMENH I'lA NOZIMO NEPO.

ATENTIE! ROBINETUL ESTE DOAR PENTRU
APA RECE $I NU ESTE APROBAT PENTRU
APA POTABILA.

UPOZORENJE! SLAVINA JE
SAMO ZA HLADNU VODU I NIJE
ODOBRENA ZA PITKU VODU.

BHUMAHUE! KPAHBT E CAMO 3A
CTYOEHA BOOA U HE E OOOBPEH
3A MUTEWUHA BOJA.

UZMANIBU! KRANS IR PAREDZETS TIKAI
AUKSTAJAM UDENIM UN NAV APSTIPRINATS
DZERAMA UDENS LIETOSANALI.

ISPEJIMAS! SIS CIAUPAS YRA SKIRTAS TIK
SALTAM VANDENIUI IR NERA PATVIRTINTAS
GERIAMAJAM VANDENIULI.

UPOZORNENIE! KOHUTIK JE LEN
PRE STUDENU VODU A NIE JE
SCHVALENY PRE PITNU VODU.

OPOZORILO! PIPA JE SAMO ZA
HLADNO VODO IN NI ODOBRENA ZA
PITNO VODO.

UPOZORNENI! TENTO KOHOUTEK
JE POUZE PRO STUDENOU VODU A
NENi SCHVALEN PRO PITNOU VODU.

FIGYELEM! A CSAP CSAK HIDEG
ViZHEZ VAN ES NEM JOVAHAGYOTT
IVOVIZHEZ.

XTA1A! D27 QIR W Mo o NN
nxXivA 'm' wnr.

UYARI! MUSLUK SADECE SOGUK
SUICINDIR VE ICME SUYUICIN
ONAYLANMAMISTIR.

el Wuades, stuaua ddals el 8 ish
SE60 ag e Jaggle 1L,



935mm

—
|

wwigsgll



> O N O, W NN

o)

10

1

12

B ——e

19

% —

15—

16 ———

17 ——

23

18

o8B

o)) 24
(s (e

e :
]i ] Jt 26
° 20
——— 27
° 22
° 21
° 28




1pc. | 7 2pcs.
' 2pcs.|8A 1pc.
2pcs.| 8B 1pc.
2pcs.| 9 1pc.
6pcs.(10 1pc.
1pc. |11 1pc.




12

4pcs. 118 1pc.
13 1pc. {19 1pc.
14 1pc. |20 Tpc.
15 1pc. |21 2pcs.
16 1pc. |22 :| 2pcs.
17 1pc. | 23 1pc.




24

27

4pcs. 1pc.
25 4pcs. | 28 1pc.
26 4pcs.




M6X40 M4X16
4pcs. 9pcs.
M6X12 M6X12-SS
/&i‘:’_‘ ™\ ,/C' _—:_i\
= 9pcs. = 14pes,
M4X8 ST4.2X10
16pcs. Ci:::) 11pcs.
T
=D
V
M6X16
54pcs. 8pcs.
®4.5
4pcs.




M4X8-SS

% 8pcs.

1

/s €
e.

M4X8-SS

% 8pcs.




) 2pcs.

8A

. ) 1-2mm.

M6X16

= __.; 4pCS
=
=
=
\
\
\\ \ -
~ A -
AERY -
AURY -7
L -
LT Tl
! = ~.
' Ss
\\
~ \‘
X '
~ - ’,
8




3pcs.

______




B 2pcs.
7
1-2mm.
_} 4_
.
J 4pcs.
8

10




M4X8-SS

3pcs.

10

N
\
\
\
'
'
'
N
AN
’,
’,
.,
.
/
’ -
. -7
’, -

11




ST4.2X10 M4X8

C % 2pcs. % 4pcs.
=
1
L
ST e 0/ L
L L

ST4.2X10 M4X8

C % 2pcs. 4pcs.

=




M6X12
==,
=
13
|
14

13




ST4.2X10

P =

C Lgég) 3pcs.
v/
15
M4X8-SS

4pcs.

14




M4X8-SS

I —g 4pcs.
17
M6X12-SS
E g____-; 4pcs.
=
18

15




M6X12-SS

19

4pcs.

M6X40

20

16



M6X12-SS

)

2pcs. (g

M6X12

)

1pc.

21

22

13

_________

17




23

______________

24

N\

18




26

19




ST4.2X10

T T,

& >

4pcs.

27

20

Na

20




M4X8-SS

4pcs.

)

29

M4Xx8 M4X16

0
]

I_
i
I

4pcs. [p 3pcs.

(@

28

21



M4X8-SS

J

o
Jil g
| |
L&

4pcs.

(

31

25

______

> 8pcs.
E

22




M4X8-SS

Cg

8pcs.

33

54

23




M4X16__ ¢45
D g 4pcs. 4pcs.
35
18 —/
36

OK

24




FIND AVIDEO ON HOW TO
ASSEMBLE THE OUTDOOR KITCHEN AT
COZZEBBQ.COM/ASSEMBLY




HIND A VIDEQ ON HOW 10
ASSEMBLE THE QUTDOOR KITCHEN AT
COZZEBBQ . COM/ASSEMBLY

O 15

cozze




